SM-EW90-B

Outer circumference of corresponding stem (95-175 mm).
Use the rubber band to secure the junction box under the stem, and cut the unnecessary part of the band.

131.96.6

16

172

LED window

EW-RS910

52.5

N Jw

2003

Adjust Switch

18203

Vo
|/ LED
\\f (Adjust mode display / battery indicator)

. N
HOLDER HOLDER
for Build-in handlebar type Build-in frame type for Road
27.2 _ 2.85
7.5

secTion A-A

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Battery mount

C-342

Long size battery mount cas
BM-DN100-L (external wire routing)

Interference area

Bolt mount
102.5 64 7
1[_(& 13.5 135 7 .10 135 135
= EY & oI = =)
040 mm or less Flat 79 64

Please use here M4-bolt or cable-tie.

H 20 | 219

D

14 ]

Frame side

j
]

*H
*H

*H = 1.4: In case the installation surface is less than @40.
H = 2.2: In case the installation surface is flat.

H = 1.4 -2.2: In case the installation surface is more than @40, please calculate the height from installation surface.

NOTE

e Do not bend the battery mount base when install to bicycle frame in order to
keep battery removal clearance.

¢ The heights of the three bolt mount surfaces should be same.

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



BM-DN100-I (built-in wire routing)

Interference area

Hole
(frame side)

Bolt mount

102.5 64 7,

. . . 710,135 .
[ [Tl
3 3 = TR

79 64 The bolt cannot be
installed in these areas.

©33.6 mm or less Flat

Please use here Md4-bolt or cable-tie.

; ﬁ/
[ ] SPACER Ej
L i i SPACER SPACER

t=4.3 t=4.3

T :J:( 7 i i
J.to/ - n

=Var 25 21 e \ \

S (14.3)

7.3

0.5

b

Frame side

*H
*H
*H

*H = 0.5: In case the installation surface is less than @33.6.
H = 2.1: In case the installation surface is flat.

H = 0.5 - 2.1: In case the installation surface is more than 33.6, please calculate the height from installation surface.

NOTE

¢ Do not bend the battery mount base when install to bicycle frame in order to
keep battery removal clearance.

e The heights of the three bolt mount surfaces should be same.

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Short size battery mount cau
BM-DN100-S (external/internal wire routing)

29

=

42

=

123

108

51

4.5

¥or) Dims

6 33 |3

2-M4x0.7 L=10 mm

35

NN

52

42

72

Hexagon socket: 2.5 mm

:TT/ ?

‘ .

n

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Built-in type battery cas

EW-SD50 compatible type
BT-DN110

016.6133

016803

BT-DN110-A

216.7:03

4 Interference region

: available area that can be held by BT-DN110 adapter

, 0856

11.2

152
50 = = 50
s a
3%
?*: |
?i _
=
Sy
F: Interference region
: available area that can be held by BT-DN110-A adapter
15205
50 < 50
£
<
112, b s
3:0.1 30
4:01
3 3
S s
Q Q

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Installation of built-in type battery cass
EW-SD50 compatible type

BT-DN110/BT-DN110-A

SHIMANO produces "battery adapter", "spring washer", "washer" and "snap ring".
This fixation request is proposed only for round type standard seat post.

1) Bond seat post collar to inside of 2) Insert internal battery into the collar from the
seat post bottom of seat post
—
Seat post Seat post Built-in type battery
(Shimano does not provide) T _ — (BT-DN110/
BT-DN110-A)
Seat post collar Seat post collar

R R RN

(Shimano does not provide)

Battery adapter
Washer

Spring washer
Washer
Snap ring

7
Z
%
%
%
Y
%
Y
1
7
Y
Y
%
%
%
Y
%
Y
%
Z
2
Y
%
Y
1
’
2
%

3) Fix the battery with snap ring

Seat post collar (SHIMANO does not provide)

0 D: Inside diameter
’e A | of seat post
| |
| o \
| = \ @18.6 £0.05
‘ ‘ +0.2
i | @20 -0
| —
FA |l =
4
) £

N

NOTE

o Please fix BT-DN110/BT-DN110-A without deformation, bending and warping
due to compression. If this is not observed, it may breakdown.

e |f BT-DN110/BT-DN110-A is subjected to a local load, it will be damaged.

¢ Do not forcefully install or remove BT-DN110/BT-DN110-A

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Grommet

C-347

EW-SD300 compatible type

EW-GM300-S
12 -
" X D
-
F
Hole for installing
Ny, EW-SD300 Electric Wire
view C
EW-GM300-M

Hole for installing
EVW-SD300 Electric Wire

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



EW-SD50 compatible type

SM-GMO1

SM-GMO02

up e

‘w

Iy

i

Section. B-B

. /4

Section. A-A

Section. B-B

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Charger cord C-348

Power supply Typical example Rated power
Type ho. Model No. outlet shape country / Region input (V) Cable length (m)
1 SM-BCC1-1 5 ? Europe 220 1
0
2 SM-BCC1-2 USA /Canada 120 2
3 SM-BCC1-3 Japan 100 1

Australia / 240 1

4 SM-BCC1-4 New Zealand

6 SM-BCC1-6 U.K 240 1

=
—
5 SM-BCC1-5 |: !! China 220 1

7 SM-BCC1-7 Korean 220 1

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Power supply Typical example Rated power
Type No. Model No. outlet shape country / Region input (V) Cable length (m)

8 SM-BCC1-8 ! ;l Taiwan 110 1

9 SM-BCC1-9 South-Africa 220/230 1
(-
—_]

10 SM-BCC1-10 Argentina 220 1

1 SM-BCC1-11 Israel 230 1

12 SM-BCC1-12 : ! Brazil 1271220 1

13 SM-BCC1-13 5 ? Thailand 250 1

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



MTB components C-349

Front derailleur c-350
FD-M8070
3 29
|
_ _ - 8 |
Bracket fix bolt |
" center for -
034.9 I mount adapter -
g m
©)
6 =
22.5 =
Bracket fix bolt 5 % |
center for %
Y

mount adapter

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Mount adapter for front derailleur css
SM-FD905-D

@r*Fixing bolt hole
SM-FD905-H
High-clamp
Fixing bolt hole \j
SM-FD905-E
E-type

-Fixing bolt hole

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



SM-FD905-L

Low-clamp

How to assemble adapter css:
Slide in

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Shifting switch c-353

Dimensions csss
SW-M8050-R

33.2

| MAX 036
(Handlebar grip diameter)

022.2+0.2 —
(Handlebar diameter)

17.4 19.4-384

22 44 - 51

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



System Information display c355
SC-MT800

Wire routing

j

[ T_]1D

| |
—

Junction (B)
or
SM-BTC1

Dimensions

231.8 or @35.0

SD50 port(x3)

c[@ @

27

29.9

Charging port

SWITCH ;

* different size of clamp band are available

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Electric wire routing c-356

External type

External type 1 (With suspension)

Rear suspension (d)
motor unit

(9

(f)

SC-MT800 or
SM-EW90-A

(i)

9 \ Front suspension
> (h)
7

Suspension
lockout switch

motor unit

SM-BTC1

()

Each cable's maximum length

a) =270mm
b) < 300mm
c) < 1000mm
d) < 1200mm
e) < 300mm
f) <300mm
g) < 1000mm
h) < 1000mm
i) = 600mm

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



External type 2 (Without suspension)

e Can be installed with SM-EW90-A when suspension is not used.
SM-EW90-B is required when suspension is used.

(e)

|

SC-MT800 or
SM-EW90-A

SM-BTC1

Each cable's maximum length
a) =270mm

b) < 300mm

¢) < 1000mm

d) < 1200mm

e) <300mm

f) <300mm

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Built-in type
Built-in type 1 (Battery: seat post)

e Can be installed with SM-EW90-A when suspension is not used.

SM-EW90-B is required when suspension is used.

Rear suspension
motor unit

(h)\
™~

“/

BT-DN110/BT-DN110-A

(a)/

SM-JC41

Each cable's maximum length

a) < 1000mm
b) < 500mm
¢) < 800mm
d) < 150mm
e) < 1200mm
f) < 250mm
g) < 250mm
h) < 1500mm
i) < 1000mm
j) £ 600mm

SC-MT800 or SM-EW90-A

Front suspension
motor unit

Suspension
()

lockout switch

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Built-in type 2 (Battery: head tube)

B

(d)

Each cable's maximum length

a) < 150mm
b) < 1400mm
¢) <500mm
d) <800mm
e) < 150mm
f) < 400mm
g) < 750mm
h) < 250mm
i) < 150mm
j) < 600mm
k) < 800mm

(c)

motor unit

(k) ¥

‘> ’/ SM-JC41
\ L/

(a) (b)
BT-DN110/BT-DN110-A / /
Rear suspension \

Front suspension

motor unit

()

SC-MT800 or
SM-EW90-A

Suspension lockout switch

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



ROAD, Gravel/Adventure components

Front derailleur

C-358

Dimensions csse

FD-R9150-F / FD-R9150-F + SM-AD91 / FD-R8050-F / FD-R8050-F + SM-AD91 / FD-RX815

44 215

Model No.

A (mm)

FD-R9150-F

FD-R9150-F + SM-AD91

41

FD-R8050-F

41

FD-R8050-F + SM-AD91

41

FD-RX815

41.4

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Shifting lever C-506
ST-R9160 / ST-R8060

25 mm

SD50 port

O

straight 50 mm min

Electric wire R5 mm min

\ (Handlebar inner diameter)

(@ ="—

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



ST-R9180

SD50 port

Straight
80 mm min.
Brake hose Inner diameter
R 30 mm min. 219.0 min.
Electric wire N
R 5 mm min.
N
| Inner diameter
s 222.5 max.
AN
-
(Handlebar

_inner diameter)

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Shifting switch C-360

Dimensions cssi
SW-R9150 (SATELLITE SHIFTER, 1 BUTTON)

L 31.8

A =
—_CiD
SD50 connector

Adapter B

SECTION B-B SECTION A-A
- Cable tie
|| | Cable tie -+
Round type handlebar Aero type handlebar

SW-R9160 (FOR TT/TRI, 1 BUTTON)

019 - 22.5 (Handlebar inner diameter)

-

Must be kept straight
more than 40 mm

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



SW-R600

Rubber pad
thickness

0l
0

31.5

Front

Right

40

26.2

4

18.82

025.4-318

(Recommended

handlebar N

diameter)

SW-R610
18.6
13.5
T =

o] +
NEE P4 A\
N 5.S )
wEL | o / |

> £ ©
NSE T
e 85

EE,A_" N

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Electric wire length

C-362

SD50 connector

I
E I 7/ Switch
L ________________________
SD50 port 3 3
>> : :
I 7/ Switch
!
L _________________________
Model No. SD50 cable length L (mm) SD50 connector SD50 port
ST-R9160
ST-R8060 105 - v
ST-R9180 85 - 7
ST-6871 470 7 -
SW-R671 620 % -
SW-R9150
SW-R600 261 v -
SW-R610 130 7 -

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Wireless Unit c-363
EW-WU111

Dimensions
E ]
11.75 ‘ 369

= : Connector

< :Hole

1 : Junction (B) (SM-JC41)

i3 - Wireless Unit
(EW-WU111)

Each cable's maximum length
a)+ b) < 1500mm

a)+ ¢) < 1700mm

d) < 1400mm

e)f) < 500mm

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Cord crip

C-621

EW-SD300 compatible type

EW-CL300-S
Ah

EW-CL300-M
Ah

Hole for installing

EW-SD300 Electric Wire

&

Identification groove to indicate S type

Hole for installing
Shift outer casing

Hole for installing

EW-SD300 Electric Wire

Hole for installing
Brake Hose

EW-SD50 compatible type
Y71L98010

Brake Outer Casing

o
—

[=)]

110,

Cord Clip

Electric wire

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Electric wire routing

C-364

EW-RS910

Build-in bar end type

AP

f\

Holder

HANDLEBAR

OUTER DIAMETR: 23.8-24.2
INNER DIAMETR: 20.5-21.5
STRAIGHT AREA: (35)

EW-SD50

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Winding of bar tape

STEP 2

STEP 3

STEP 6

STEP 7

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



EW-RS910
Build-in frame type

EW-JC130

EW-WU111
(wireless unit)

HOLDER
Build-in frame type
for Road

BOLT M3 L12

EW-RS910 Flat area

for holder
\ FRAME (Hatching area)

L -

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



EW-RS910 (build-in type)
For ROAD (Drop handle)

Build-in handlebar type
ST-R9150 / ST-R8050 ST-R9150 / ST-R8050

Port for remote
sprinter shifter

Port for remote

SD50 port x2 SD50 port x2
sprinter shifter

Fix wire on handlebar
with wire cover

SW-R9150  SW-R9150

I

% Min. 40mm

EW-RS910

@ Mo EWIC130 2port junction
EW-WU111 for barend
Wireless Unit
al To frame

§

SM-JC41

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



EW-RS910 (build-in type)
For ROAD (Drop handle)

Build-in frame type
ST-R9150 / ST-R8050 ST-R9150/ ST-R8050

Port for remote
sprinter shifter

Port for remote
sprinter shifter

SD50 port x2 SD50 port x2

SW-R9150  SW-R9150

amn [© Q)| mw
EW-WU111
Wireless Unit

él, To frame

%

EW-JC130

EW-RS910— 4

SM-JC41

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



EW-RS910 (build-in type)
For ROAD (Drop handle)

Extension bar type

ST-R9150 / ST-R8050 SW-RI160

C
Y]

Port for remote
sprinter shifter

il )] o
EW-WU111
Wireless Unit

@l, To frame

} SM-JC41

SW-RI160  ¢1.R9150 /5T-R8050

(@
=

Port for remote
sprinter shifter

B port x2
[© 0 &

EW-JC130

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



EW-RS910 (build-in type)
For TT/TRIATHLON

Build-in handlebar type

vy
=
o)
(=)
—_
(o))
o
v
=
o)
(=)
—_
(o))
o

ST-R9160
ST-R9180

ST-R9160

)
-’

SN1-JC41

g ---1- ---1-
I

\

EW-JC130 Eﬂ-‘ i
—-—-‘ F--- s 1ol

S ) by

©O
EW-RS910

EW-WU111

Wireless Unit

.é l To frame

} SM-JC41

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



EW-RS910 (build-in type)
For TT/TRIATHLON

Build-in frame type

SW-R9160 SW-R9160
ST-R9160 4@* ST-R9160
ST-R9180 ST-R9180
| ST-R8060
1 |
1 |
1 1
' j
I T
i I :
| |
| | ©
| |
Q : SM-JC41 It
i EW-JC130 ﬁ ©© |mm- = 1
o - — - ©© |m=

EW-WU111

Wireless Unit

E l To frame

< SM-JC41

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



DURA-ACE R9150 series / ULTEGRA R8050 series
Built-in battery mount type (built-in wire routing)

— : Connector

< i Hole
I : Junction (B)
(SM-JC41)

Each cable's maximum length
a)+ b) < 1500mm

a)+ ) < 1700mm

d) < 1400mm

e)f) < 500mm

External battery mount type (built-in wire routing)

— : Connector

< :Hole
[ : Junction (B)
(SM-JC41)

Each cable's maximum length
a)+ b) < 1500mm

a)+ ¢) < 1700mm

d) < 1400mm

e)f) < 500mm

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



External battery mount type (external wire routing)

= : Connector

[ : Junction (B)
(SM-JC40)

Junction (B)
(SM-JC40) Y,

Each cable's maximum length
a)+ b) < 900mm

a)+ ¢) < 1100mm

d) < 1400mm

e)f) < 500mm

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Electric wire routing around cockpit area c-365

Drop handle type csss
3 port type

ST-R9150 ST-R9150
ST-R8050 ST-R8050

Port for remote
sprinter shifter

Port for remote
sprinter shifter

SD50 port x2 SD50 port x2

& &

SW-R610 SM-EW90-A SM-JC40  SW-R600 SW-R610

option Junction(A) SM-JC41 option option
Junction(B)
@CI SD50 connector SD50 port x3

m_P Connector for remote sprinter shifter

Wire routing

= : Connector
< :Hole
[ : Junction (B) (SM-JC41)

| SM-EW90-A

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



3 port type (with clip-on bar)

ST-R9150
ST-R8050

Port for remote
sprinter shifter

SD50 port x2

N

SW-R610
option

@I SD50 connector

] Connector for remote sprinter shifter

Wire routing

SW-9071 SW-R671
option option
or
| —
II
ST-R9150
ST-R8050

-

]

]

]

-

-

-

]

L]

-

-

-

= SD50 port x2 Port for remote
= sprinter shifter
]

"

: ©® © ©

SM-EW90-A SM-JC40 SW-R610
Junction(A) SM-JC41 option
Junction(B)

SD50 port x3

= : Connector
O :Hole
[ : Junction (B) (SM-1C41)

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



5 port type (with clip-on bar)

ST-R9150
ST-R8050

Port for remote
sprinter shifter

SD50 port x2

SW-R610
option

@I SD50 connector

@ Connector for remote sprinter shifter

Wire routing

SW-9071
option

SW-R671

ST-R9150
ST-R8050

Port for remote
sprinter shifter

SD50 port x2

b

SM-JC40  SW-R600 SW-R610
SM-JC41 option option
Junction(B)

SM-EW0-B
Junction(A)

SD50 port x5

= : Connector
O :Hole
I : Junction (B) (SM-JC41)

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



TT / Triathlon handle type cs%n
5 port type

SW-9071 SW-R671
option option

or
H | —
6 II
18 [ ]
A
ST-9071 ST-9071
576871 ST-6871
= ==

CypppEnEEEEEERI@D

CexzmEzmEEEmI INEENENENER® j

M0 SD50 connector

@ Connector for remote

sprinter shifter SM-E90-B SM-1C40
Junction(A) SM-IC41
Junction(B)
SD50 port x5
Wire routing = : Connector
O i Hole
= : Junction (B) (SM-JC41)
o \
- SM-EW90-B

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Electric wire routing around cockpit area (without sprinter

shifter)

C-536

Drop handle type css
3 port type

ST-R9170
ST-R8070
ST-RX815

@CID SD50 connector

Wire routing

SM-EW90-A
Junction (A)

SD50 port x3

v SM-EW90-A

ST-R9170
ST-R8070
ST-RX815

SM-JC40
SM-JC41
Junction(B)

SW-R600
option

= : Connector
O :Hole
I : Junction (B) (SM-JC41)

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



3 port type (with clip-on bar)

Wire routing

ST-R9170
ST-R8070
ST-RX815

@CTD SD50 connector

SW-9071 SW-R671
option option

or
II
ST-R9170
$T-R8070
ST-RX815
]
]
-
-
]
]
-
]
]
]
]
-
- SD50 port x2
-
]
]
-
]
-
-
SM-EW90-A SM-JC40
Junction (A) SM-JC41
Junction (B)

SD50 port x3

=3 : Connector
< :Hole
[ : Junction (B) (SM-JC41)

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



5 port type (with clip-on bar)

ST-R9170
ST-R8070
ST-RX815

@I SD50 connector

@_p Connector for remote sprinter shifter

Wire routing

S

Lenntt

SW-9071
option

SW-R671
option

or
Il

ST-R9170
ST-R8070
ST RX815

- -

- -

- -

- -

- -

- -

- -

- -

- -

- -

- -

- -

m m SD50 port x2

- -

- -

- -

- -

- -

- -

- -

SM-EW90-8 SM-ICA0 SW-R600
Junction (A) SM-1C41 option
Junction (B)
SD50 port x5

= . Connector
S Hole
[ : Junction (B) (SM-JC41)

\ SM-EW90-B

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



URBAN components can2

Internal Geared Hub 373
Dimensions cs7
B
J A K
? A/2 Al2
H G
- e E c
S, % § =~ /2 2
.\ ’) i — =]
Detail of spoke hole ST
N ! P
L L
Q Q
o | Non-turn washer
L
—— L
w
F1 a F2
Series ALFINE NEXUS
Function name INTER-11 INTER-8 INTER-8
SG-C6061-8R
Model No. SG-57051-11 SG-57051-8 SG-C6061-8V SG-C6061-8C
Speed 11 8
Gear ratio | Total 409% 307%
A Over locknut dim./ O.L.D. (mm) 135
B Axle length (mm) 187
C Flange distance (mm) 57.3 [ 58.3
D Spoke hole P.C.D. (mm) 92.6
E Flange diameter (mm) 104.3 [ 105.2
F Flange width (mm): F1 (left) 3.2
Flange width (mm): F2 (right) )
G Chain line (mm): (inward assembly) 41.8
H Offset (mm) 3.15 [ 3.1 3.7
J Axle length from hub (left) 26
K Axle length from hub (right)
L Axle size BC3/8 TPI 26
N Rear dropout mounting width
(left, includes stay etc.) 5.9
p Rear dropout mounting width
(right, includes stay etc.)
Q Non turn washer width 6.4
R Spoke hole diameter (mm) 2.9
S Spoke hole chamfer 90°

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.




Series NEXUS
Function name INTER-8 INTER-5E
SG-C7050-5R
Model No. SG-C6061-8D SG-C6061-8CD SG-C7050-5V SG-C7050-5D
SG-C7050-5C
Speed 8 5
Gear ratio [ Total 307% 263%
A Over locknut dim./ O.L.D. (mm) 135
B Axle length (mm) 187
C Flange distance (mm) 57.3 [ 58.3 | 57.3
D Spoke hole P.C.D. (mm) 92.6
E Flange diameter (mm) 105.2
F Flange width (mm): F1 (left) 32
Flange width (mm): F2 (right) i

G Chain line (mm): (inward assembly) 41.8 42.2
H Offset (mm) 3.3 [ 3.7 3.7 [ 3.2
J Axle length from hub (left) 2
K Axle length from hub (right)
L Axle size BC3/8 TPl 26
N Rear dropout mounting width

(left, includes stay etc.) 5.9
p Rear dropout mounting width

(right, includes stay etc.)
Q Non turn washer width 6.4
R Spoke hole diameter (mm) 2.9
S Spoke hole chamfer 90°

Spoke Iacing c375

Use a wheel with 3x or 4x spoke lacing. Wheels with radial lacing cannot be used because the spokes and
the wheel can be damaged when applying the brakes and brake noise can be generated.

Recommended gear ratio cs

S Front SM-GEAR CS-S500*
Series Model No. Speed : Inward assembly** Inward assembly**
t x y
ratio Gear teeth | FC-S501 | FC-C6000 12776 118 119 120 121 122123 18 20
33 - - - =-1-1-1-1-1=-1- - -
38 - v - =-l-|vY|Vv|VvI][-|- - v
39 v - - =-l-|-|v|v][-|- - v
$G-57051-11 11 1.8-2.0 5 7 - ——— B BV B B — =
44 - - --l-1-1-1-[YI|V - -
45 v --l-1-1-1-[-1V - -
ALFINE 33 = - e A B e B e o — -
38 - v - -{vIv]-1-]-1- v -
39 v - - -(vIv]-1-]-1- v -
SG-57051-8 8 2.0-2.25 5 7 - —— T = Z
44 - - - -l-|-|vI|VvI[v]|- - v
45 v - - =-l-|-|v|VvI[v]|- - v
33 - v - -1 =-[-1-1-1- - -
$G-C6061-8R 28 v Y e s —
SG-C6061-8V | 8 | 2022 39 v - il Bl A A el el el v -
$G-C6061-8D 42 v - il Ml Ml A0 0 AR Tl s - v
44 - - - - =V |V]|V]- - v
45 v - -|-l-|-1-1VvI[vY]|- - -
NEXUS 33 = ~ — —— — —
38 - v - -{v|v|-1-]-]- v -
$G-C6061-8C 39 v - - vV =-1=1-1= v -
$G-C6061-8CD | & 2.0-2.2 22 7 - i R 7 = —
44 — — - =-1T=-1-1T-1-1-1- - —
45 v -[-[-1-1-1vI[Vv]- - -
* Only spec. without guard can be used
** |n case of DI2 IGH spec., sprockets cannot be used with outward assembly.
e Front CS-C7000
Series | Model No. |Speed ratio | Gear teeth | SM-CRE61 Inward assembly*
24 27 30
SG-C7050-5R
SG-C7050-5V
NEXUS | 22 7020ap | 5B | 1315 38 v v | v v
SG-C7050-5C

* In case of DI2 IGH spec., sprockets cannot be used with outward assembly.

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Dust cap information csn

. Hub body Right hand Sealing
e Speed el e, (dust cap XX) dust cap variation performance
Right hand dust cap A Right hand dust
ALFINE U Aol w / Seal for SG-S700 cap D for INTER-11 2.9
8 $G-57051-8 Right hand dust cap A Right hand dust 10
w / Seal for SG-S501 cap B for INTER-8 :
SG-C6061-8R
8 SG-C6061-8D Right hand dust cap A Right hand dust 1.0
SG-C6061-8C (Y-34R98110) cap B for INTER-8 :
SG-C6061-8CD
NEXUS SG-C7050-5R
5 SG-C7050-5V Right hand dust cap A Right hand dust 2.9
SG-C7050-5D w/ Seal for SG-C7050-5 cap D for INTER-5E :
5G-C7050-5C
Sprocket compatibility css
SM-GEAR
Series Speed Model No. Inward assembly
14 15 16 17 18 19 20 21 22 23
11 SG-S7051-11 - - - - - - v v v v
ALFINE 8 SG-5S7051-8 - - - - v v v v v v
SG-C6061-8R
NEXUS 8 a-ce0e1 80 - - v - v v v v v v
SG-C6061-8CD
SM-GEAR
Series Speed Model No. Outward assembly
14 15 16 17 18 19 20 21 22 23
11 5G-57051-11 - - - - - - - - - -
ALFINE 8 SG-57051-8 - - - - - - - - - -
SG-C6061-8R
SG-C6061-8D
el . $SG-C6061-8C - - - - - - - - - -
SG-C6061-8CD
CS-5500* CS-C7000
Series Speed Model No. Inward assembly Outward assembly Inward assembly Outward assembly
18 20 18 20 24 27 30 24 27 30
11 SG-57051-11 - v - - - - - - - -
ALFINE 8 SG-57051-8 v v - - - - - - - -
SG-C6061-8R
SG-C6061-8D
2 5G-C6061-8C v v - - - - - - - -
5G-C6061-8CD
NEXUS SG-C7050-5R
SG-C7050-5V
92 5G-C7050-5D - - - - Vi Yo Y - - -
S$G-C7050-5C

* Only spec. without guard can be used

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.




Motor unit (MU-UR500) cas

Dimensions csm»

20 58.1
16.85

14.65
17.5

135

Non-turn washer csso

Use whichever non-turn washers match the shape of the rear dropout. Different non-turn washers are
used at the left and right sides.

o Q=

*The projecting parts should be on the rear dropout side.

*|nstall the non-turn washers so that the projecting parts are securely in the rear dropout grooves on
either side of the hub axle.

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Shape and color cass

For right hand side

For leht hand side

8R: Dark blue

qqo | | 86 o
D &
5 =) &)
5R: Yellow 5L: Brown
'\'\Qo ‘ 2500
’
6R -
" &) )
6R: Silver
’\/\o |
m =)
7R: Black
2
o S0%)
8L ~

8L: Dark green

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.




Application chart cs=

Reversed type rear dropout

Standard type rear dropout

5R
5L

6R
6L

7R
7L

8R
8L

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Electric wire routing c-388

External wire routing csss

Flat handlebar use

SC-MT800

SM-BTR1
BM-DN100
(c)EW-SD50
~ (a) EW-SD50

©)

SW-E7000-R

TOOTUT

—_
(b) EW-SD50
MU-UR500 SM-JC40 (Junction (B))
Each cable's maximum length
a)+ b) < 1500mm
c) < 1400mm
Drop handlebar use
SC-MT800
(d)EW-SD50
SM-BTR1
7
BM-DN100
() EW-SD50 SD50 port
(a) EW-5D50

[T

(b) EW-SD50
MU-UR500 SM-JC40 (Junction (B))

Each cable's maximum length

a)+ b) < 1500mm
¢) < 1400mm
d) < 500mm

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Built-in battery mount type cas

Flat handlebar use

M= === = =[] ([0

“\|||||||||||||||||||||||||u,,,' SC-MT800
5\ v "'
3 %
z 2
= BT-DN110 =
= BT-DN110-A = SW-E7000-R
2 z
= 2,
E “ 'l'lllllllllllIIIIIIIIIIIIIIIIIIIIII IIIIIIIIIIIIIII"I
= u ’,
= | '
= C Z
= n =
- " =
'l," . " =
""my, . - =
® (a) EW-5D50 5 (JEW-SDS0 =
) x =
| -
n =
n =
Ze ' =
- & -
- ¢ ‘0 -
S ‘ssco@m IRp= === =
=
S
S
¢

SM-JC41 (Junction (B))
%, \\\
AR s

Inside frame

Each cable's maximum length

a)+ b) < 1600mm
¢) < 1400mm

Drop handlebar use

““IIIIIIIIIIIIIIIIIIII'," SCMT800
o
s “,
= %
= %
= BTDN110 Z
= BT-DN110-A -
= =3 (d)EW-5D50
= ”
L
= %,
- (/
(/
= ,
= "'I','
= n
z u|||||||||||||||||||||.u,"
: : =
= u =
- ] = SD50 port
% . -
%, Y I ST-6870
%, n =
“, . () EW-SD50 m =
,, ® (a) EW-SD50 u =
l,' L ) ] -
l" ) u -
'I, * ] -
,, =
0, " - =
, =
v, o =
. &
%2 Y " =
) &~ u = = (I mm-: - =
] hs- = m e == [T m =
MU-URS00 (b)EW-5D50 2 SM-ICAT (Junction (8)) H
E §
'¢, >

N
"nuu|||||||||||||||||||||||||||||||||||\“ Inside frame

Each cable's maximum length

a)+ b) < 1600mm
¢) < 1400mm
d) < 500mm

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Drive unit c-392

Drive unit dimensions c-393
Type 2

Solid line: Avoid Frame Area
(0.4mm offset from DU_model)
* Refer to 3D data for detailed shape

Reference line of DU

Drive unit angle
on the bike (10°)

Horizontal line of the bike

FRONT SIDE FRONT SIDE
e —
NON DRIVE SIDE DRIVE SIDE
Drive unit angle on the bike : 0 - 60°
(This sketch shows 10° condition / 60° is clockwise on this sketch)
7
Max 60.5 Max 10.5
e 50%0.25 {Frame Requirement) o Reference Surface
-
- Max 49.5 (Drive unit / Shipping condition) _/
- 25 =
0.5
w5 16.5 Min. 14 125 -l Frame
Washer / //
E 777771 \\{\\\ /] S
% < // /] T 1/ //f/ ]
3 /]
= g /’; // 1/} /1! /) i/ = /1/ AT 7/ 1/ 7/ =
% 17 [/ I
s 1 /, /f,f’ 1 /// /ﬂ . 11 /4 /// i
'/ ST AN //
LA H M8 x 1.25 bolt*
I ) Recommended tightening torque
V. { 10,0-12.5Nm
M8 x 1.25 bolt* AN \ | —— ~ Washer
. Recommended | P e Uni
SECTION A-A tightening torque or 115 BUSH | _ Max115 —_ Drive Unit
10.0-125Nm fe—Max 1l | fletase c':)?g\rm not!
o touch the cover
SM-DUE80-A /
Left d— =P Right SM-DUES0-B

This space can be used for
internal cable and hose routing

* Drive unit doesn’t include M8 fixing bolts and washers.
e Make sure that at least 8 bolt threads are engaged.
e Bolt strength is not guaranteed.

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Type 2 (DU-EP800)

Fix all 6 bolts on the rigid part of the frame.

AN

Solid line: Avoid Frame Area
(0.4 mm offset from DU_model)
* Refer to 3D data for detailed shape

[ [e0.25[A[B]

[ [00.25[A[B]
Reference line of DU

[
Drive unit angle
on the bike (10°)
R

Horizontal line of the bike

(% [00.25[A[B]

Drive unit outline
FRONT SIDE * The dotted line is not fixed. FRONT SIDE
Solid line: Avoid Frame Area
- (0.5 mm offset from Skid plate_model) —p

* Refer to 3D data for detailed shape

NON DRIVE SIDE DRIVE SIDE

Drive unit angle on the bike : 0 - 60°
(This sketch shows 10° condition / 60° is clockwise on this sketch)

(71)
Max 60.5 Max 10.5
e 50=0.25 (Frame Requirement) N Reference Surface
- Max 49.5 (Drive unit / Shipping condition) I -
- 25 =-"
ws )
CO?\ 16.5 Min. 14 125 .ﬂ P Frame
Qs o .
Washer { \/ )
] / o
: S 3
3 = ]
2 = =2 =
=}
s
= N,

/ * \ - [/ M8 x 1.25 bolt*
/ i f Recommended tightening torque
] j )\\.‘ \ NN | 10.0-12.5Nm
s/ \ N SOt
M8 x 1.25 bolt* N \ |

SECTION A-A Recommended

~—_ . Washer
i B . o
tightening torque Mok 115 BUSH | _ Max11s - DriveUnit
10.0-12.5Nm ax 115 . s P—
_Frame center ease con 0
\\ to touch the cover
\ SM-DUE80-A /
Left d— =P Right \ SM-DUES0-B

This space can be used for

“ internal cable and hose routing

* Drive unit doesn’t include M8 fixing bolts and washers.

o Make sure that at least 8 bolt threads are engaged.
e Bolt strength is not guaranteed.

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Type 3

Solid line: Avoid Frame Area
(0.4mm offset from DU_model)
* Refer to 3D data for detailed shape

Drive unit angle
on the bike (10°)

Horizontal line of the bike

FRONT SIDE FRONT SIDE

— BB Center -
Drive unit angle on the bike : 0 - 60°
(This sketch shows 10° condition / 60° is clockwise on this sketch)
(71)
Max 60.5 Max 10.5
- 50=0.25 (Frame Requirement) N Reference Surface
-
le Max 49.5 (Drive unit / Shipping condition) ’_/
- 2 =
0.5
w05 16.5 Min. 14 125 a Frame
Washer / //
= 1 oy S
F = T ey =
= g // // //‘f //,/ f// f// 2 //f/ j// /1 ’// /{/ // =
= 7 77 77
g/ f// / il /// /, N i sy, I
Y/ PRRANTNANNN \ A 1/
B } s M8 x 1.25 bolt*
7 - Recommended tightening torque
b ] 10.0-12.5Nm
M8 x 1.25 bolt* RN \ \ — . Washer
- R ded w T ive Uni
SECTION A-A ti;il‘)t?nT:;torque Max 115 BUSH | . Max11.5 ~Drive Unit
10.0-12.5Nm ax 115 Please confirm not
to touch the cover
SM-DUE61-T/
Left <— =P Right SM-DUE61-C

This space can be used for
internal cable and hose routing

* Drive unit doesn’t include M8 fixing bolts and washers.

o Make sure that at least 8 bolt threads are engaged.
e Bolt strength is not guaranteed.

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Type 3 (DU-EP800)

Fix all 6 bolts on the rigid part of the frame.
AN

Solid line: Avoid Frame Area
(0.4 mm offset from DU_model)
* Refer to 3D data for detailed shape

[ [20.25[A[B]

[# [0.25[A[E]

[ [00.25[A[E]

Reference line of DU

Drive unit angle ~~ —
on the bike (10°) - -
N

Horizontal line of the bike

S [ [00.25[A[B]

Drive unit outline

FRONT SIDE * The dotted line is not fixed. FRONT SIDE
- 05 rr?ﬁllgflf‘:ei :rm%;rj ?Eér_ﬁode\) —>-
* Refer to 3D data for detailed shape
NON DRIVE SIDE DRIVE SIDE

Drive unit angle on the bike : 0 - 60°
(This sketch shows 10° condition / 60° is clockwise on this sketch)

an

Max 60.5 Max 10.5

50=0.25 (Frame Requirement)

- Max 49.5 (Drive unit / Shipping condition) _/

25

w05 16.5 Min. 14 125 a Frame

Washer 2 / /

\’\
TTT777 \\k
TIT7 1] i
Iy /f
T i

T 777777 /7 (111
Iy / | . 11
T ) \ \ L L T L
bbb bk
Y/ VY - //
)
I
]

4 I/ M8 x 1.25 bolt*
I Recommended tightening torque
l/ 10.0-12.5Nm
M8 x 1.25 bolt* RN \ ~— ~ Washer

Reference Surface

Max 104
Max 104

18

Max/@18.4

. Recommended | T . .
SECTION A-A tightening torque Max 115 BUSH | . Max11.5 ~Drive Unit
10.0-12.5Nm lax 11. . Pl firm not
I _Frame center ase con 0
to touch the cover
SM-DUE61-T/
Left d— =P Right SM-DUE61-C

This space can be used for
internal cable and hose routing

* Drive unit doesn’t include M8 fixing bolts and washers.
o Make sure that at least 8 bolt threads are engaged.
e Bolt strength is not guaranteed.

Frame mount type compatibility C-586

/5\
. . . . Frame Mount

Drive unit Drive unit cover Type 1 Type 2 Type 3

DU-E5000 SM-DUE50-T - N 7

DU-E5080 SM-DUE50-C - - 7

DU-E6100 SM-DUE61-T - R V;

DU-E6110

DU-E6180 SM-DUE61-C - B 7
SM-DUE70-A - ; w7

DU-E7000 SM-DUE70-B : : 7

DU-E8000 SM-DUES0-A - 7 *7

DU-E8080 SM-DUE80-B - . 7
DC-EP800-A - e

DU-EP800 e v v
DC-EP800-B - v ™

* Gap between the cover and the frame mount is large on the RIGHT SIDE.
** Gap between the Drive Unit and the frame mount is large on the RIGHT SIDE.

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Clearance for cables

C-394

Type 2/ Type 3
Window for cable routing
©

Window for cable routing should be designed in green area.
SHIMANO original cover can cover green area completely.
Refer to C-395 for the example of electric cable routing.
Cable routing 395

DU-EP800
EW-SD300 to SC/Display EW-SD300 to rear derailleur
Power line  Power cord Cable for speed sensor
Connector

2-M3 bolts

(SHIMANO doesn't
provide the electric cable
and connector for light.)

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



DU-E8000 / DU-E8080

Power cord EW-SD50 to SC/ Display Cable for speed sensor

Connector

EW-SD50 to DI2
rear derailleur

Power line
connector

Front side Non Drive Side 2-M3 bolts
<+ (SHIMANO doesn't provide
the electric cable and
Power line connector for light.)
connector Connector

Connector for EW-SD50
to DI2 rear derailleur

Connector for EW-SD50

to SC/ Display Speed sensor connector

Please refer C-397, C-412 and C-512 for electric wire dimensions.

Notice for drop handlebar
For DI2 drop handlebar spec., need a ferrite core as shown below.

Ferrite core
(Placed on the outside of the EW-SD50 to SC/ Display
SHIMANO original drive unit cover) (wiring from non drive side)

Drive Side Front side
—

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



DU-E6100/ DU-E6110 / DU-E6180 / DU-E7000

Cable for speed sensor

2-M3 bolts

(SHIMANO doesn't provide
the electric cable and
connector for light.)

Drive side

EW-SD50 to
DI2 rear derailleur

Notice for drop handlebar
For DI2 drop handlebar spec., need a ferrite core as shown below.

(©O))] EW-SD50 to
7/ SCIDisplay

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



DU-E5000 / DU-E5080

This window for internal
electric cable routing

Front side

\

EW-SD50 to ™,
SC/ Display

2-M3 bolts
(SHIMANO doesn't provide
the electric cable and
connector for light.)

Power line
connector

Cable for
Speed sensor

Notice for DU-E5000 / DU-E5080
e For DI2 specification, please branches the wiring with SM-JC41.
e For DI2 drop handlebar spec., need a ferrite core as shown below.

EW-SD50 to
SC/ Display

EW-SD50 to

SM-JC41

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



/4.Chain Device fixing bolt position
¢ You can use below threads circled in yellow (maximum 3 threads).

e To keep appropriate tightening torque when you use below threads circled in yellow, make sure to
usethechain device fixing boltspacked in DU-EP800.

C-628

Effective
thread depth 11 min

M6 x 1.0-4h

e

0
010 %43

151 10

Chain Device bolt

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Dimension for chain case stay C-39

E6100 / E6180 series

Recommended
frame center 33

Mountng surface
for chain case stay

:Flat area

Notice for chain case stay and fixing bolts
* Prepare the chain case stay when attaching the chain case to the drive unit.
* The chain case stay is attached to the drive unit with three M4 x 8 low head bolts.
¢ SHIMANO can offer low head bolt SM-DUE61-FB (sold separatery.)

SM-DUEG1-F8 (sold rery) Chain case stay (Reference)
- -FB (sold separatery, i * Not included in SHIMANO products
or M4 x 8 low head bolt P

e Design and select the chain case stay and mounting bolt according to the following thickness
dimensions.
(* When using SM-DUE61-FB, X = 1.5)

SM-CRE6G1
P
X+t<4.4
t X4
\ - - X: Thickness of bolt head

o= (SM-DUEG1-FB: X=1.5)
SM-DUE61-FB t: Thickness of chain case stay

(sold separatery)
or M4 x 8 low head bolt

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



E5000 / E5080 series

Front side

O
Recommended ——~ 33 ’."C’:J —

frame center Mounting surface
for chain case stay

)
\\" \

me=ay il

3-M4x0.7-6H
(Effective thread 4)

[ @0.2[AlB] : Flat area

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Drive unit cover C-587

SHIMANO original cover option c-s88

EP8 series cs2
DC-EP800-A / DC-EP800-G

Left side

Ve DC-EP800-A
DC-EP800-G
<— FRONT SIDE
Right side

. DjPSOO-G

FRONT SIDE =—»

DC-EP800-B / DC-EP800-G

Left side

DC-EP800-B
. /

<— FRONT SIDE

Right side

%y

DC-EP800-G

A

FRONT SIDE =

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



ES8000 / EB080 series csos
SM-DUES0-A
Left side

<= FRONT SIDE

Right side

FRONT SIDE =—»

SM-DUES0-B
Left side

- FRONT SIDE

Right side

FRONT SIDE =

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



E7000 series csso
SM-DUE70-A

Left side (2 pieces cover)

<= FRONT SIDE

Right side (2 pieces cover)

FRONT SIDE =—»

SM-DUE70-B

Left side (2 pieces cover)

- FRONT SIDE

Right side (2 pieces cover)

FRONT SIDE =

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



E6100 / E6180 series csso
SM-DUEG61-T (for Trekking)
Left side

<= FRONT SIDE

Right side (2 pieces cover)

FRONT SIDE =—»

SM-DUEG61-C (for URBAN)
Left side

- FRONT SIDE

Right side (2 pieces cover)

FRONT SIDE =

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



ES000 / ES080 series cso1
SM-DUE50-T (for Trekking)
Left side

<= FRONT SIDE

Right side

FRONT SIDE =+

SM-DUE50-C (for URBAN)
Left side

<— FRONT SIDE

Right side

FRONT SIDE =

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



Custom cover (7]

EP8 series cs

Cover fixing bolt position
¢ You can use below threads circled in yellow (maximum 6 threads).
e To keep appropriate tightening torque when you use below threads circled in yellow, make sure to
use the cover fixing bolts packed in DU-EP800.

[131.5]

= E
< m o«
®00.25[A[B Iy =

M3 x 0.5-6H A
A Effective BB center
A thread depth
‘

e
=2
> = 295
S i
=\,
@)
(9) 505
(o)
4 [00.25[A[B
[ [0.25]A[B] /A M3x0.5-6H
M3 x 0.5-6H Effective
Effective thread depth 3.5 min
thread depth 3.5 min ' y | w

A B
JIS cross recess size 2 g,‘)» 2:01  5s024 M3 x 0.5-6g [4 [00.25 [A[B]
~2 ' M3 x 0.5-6H
Effective

I P thread depth 3.5 min

SEcTioN A-A

Cover fixing bolt

Ver. 2.6, Apr. 21, 2020, SHIMANO INC.



